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The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.
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Don’t leave blank page/pages in your answer-book.
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Except answer—book, no extra sheet will be given. Write to the point and do
not strike the written answer.
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° FYI 97 F FUY 37 G g4 T° %Tc??/%qus’gﬂfa%??w%ﬂ
FYT 59 T F g A arar :/37‘ R s
Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

T 73T -

() F& g57-97 T §r 7 o &
TT-37 : STTTHE] T T T Gl
TI-§ : B+ @7 07 [T [aeal & [eaya
TT-T : FGRHT AGIHT

(i) SF-97 Sfard &1 Therf o s @ GF-g T 9IT-q § @ FE @
T &T F1

(iii) TH F9T ET T &1 JOF-JIT & IF FGF THT 9T T 8

(iv) 797 & 11, 17 7 18 7 iR % g Y781

General Instructions :

(i) This question paper is divided into three parts :
Part-A : Not for Profit and Partnership' Accounts.
Part-B : Company Accounts and Analysis of Financial Statements.
Part-C : Computerised Accounting.

(ii) Part-A is compulsory. Candidates have to attempt any one part
from Part-B and Part-C of their choice.

(iii) All questions are to be attempted. Marks of each question are
indicated against it.

(iv) Internal choice is available in Question Nos. 11, 17 and 18.

A - A
PART - A
(eraerRret e Td e &)

(Not for Profit and Partnership Accounts)
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1. 9-29 @9 ¥ o9 F1 993 8 ¢ 1

What do you mean by Income and Expenditure Account ?

2. AR HEEN AAFEE, 1932 % AR e S GRAW a5t |
Define partnership according to Indian Partnership Act, 1932.

3. T G udh o el B 5 : 3 F U F fawid w gu ameERr F
N W AR A W AT wEER & ®Y H EH O yaw ReAn T ow RE @
%m‘é’r’aﬁﬁmam‘éﬁ’%% G o0 W H q E @ A S ¢
STH-81 ST &l T 1
A and B are partner in a firm sharing profits and losses in the ratio of 5

: 3. They admit C and D as a new partners. A sacrifice % of his share in

favour of C and B sacrifice % of his-share-in favour of D. Calculate

their new profit sharing ratio.

4. M, WH, F AN MGT 3 : 2 ¢ 1 24 & STgu- & A&l i =d gu &
wH H EER & T BH A QaiNg Bl &1 §EEld & SgER UH & E WH g
P 3 : 2 % SGA A AL TEH, F SN YA & T4 -8l ST Bl T
CO
Ram, Rahim, Krishan and Arjun are partners in a firm sharing profits
and losses in the ratioof 3 :2 : 1 : 4. Ram decide to retire from the
firm and his share, received by Rahim and Krishan in the ratio of 3 : 2

according agreement. Calculate the New Profit sharing ratio of Rahim,

Krishan and Arjun.

5. @ & 7 o 1

Write the meaning of Goodwill.
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6. TEREN & GHOT & MY F1 9 © 7 1

What is meant by dissolution of partnership ?

7. 31 9E, 2016 H GHG ¥ & U AT FAG 7 Iw&T 39 YR I B ¢

N\

2014-15 5,000

2015-16 1,08,000

2016-17 3,000

1,16,000

e gEe

Bl Ta G 240

a1 B ' 500

1 30, 2015 & STe == ' 9,000

31 T/, 2016 F ¥ 9 &G G § T B TR H A 4

Subscriptions received during the year ended 31st March, 2016 by Arts
Club were as under :

N

2014-15 5,000
2015-16 1,08,000
2016-17 3,000
1,16,000
Additional Information :
Total number of members 240
Annual subscription fee © 500

Subscription outstanding on April 1, 2015 ° 9,000

Show the amount of subscription in Income and Expenditure Account
for the year ended 31st March, 2016.
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8. T, ‘W IR G W AH-T ST HAM: 4 : 2 : 1 o, AT MU TR B

AR G H fewwm Bl ot @ 18,000 | FH TE BMM 2015 a9 B BH H
@™ 1,05,000 91 HEER § AE-2 & fOHeE S 4

A, B and C were in partnership sharing profits in the ratioof 4 : 2 : 1. It
being provided that in no year C's share be less than = 18,000. The
profit for the year 2015 amounted to = 1,05,000. You are required to
show the appropriation of profit between the partners.

9. G o ‘@ @l B 3 : 2 F W HA gL BH A ABRER 2| ITH Go
80,000 @R * 50,000 HAL: B IBM ‘W' H T WEHER TN S A A
1 N < . X
IO < T F R 60,000 o & ®W F 0 81 IGFT GG F SN W
T &l O Y FAT AT AE-BI S S B 4
P and Q are partners in a firm sharing profits and losses in the ratio of 3 :
2. Their capital are 80,000 and * 50,000 respectively. They admit

Z as a new partner. Z brings in * 60,000 as his capital for %th share in

the profits, Find out the amount of goodwill on the basis of the above
information and also calculate their new profit sharing ratio.

10. ‘@@ oiR ‘TH 4 : 3% o § AW &t 8¢ UF ®H # EER 91 31 AN,
2016 F BH H TG & TN T FGER! I oTEeds Hfaftedr S 4
(i = 20,000% IER; ‘T@ 7 18,000 H fom
(i) ° 15,000 % ATER H-5% FHekil T A B
(i) F9OE & ° 1,000 ‘TH’ T &3
(iv) age @ q & 7,000 B
L and M were partners in a firm sharing profits in the ratio of 4 : 3. The

firm was dissolved on 31st March, 2016. Pass necessary Journal

Entries for the following transactions :

(i) Debtors = 20,000 were taken over by L for * 18,000.
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(ii) Creditors = 15,000 were paid at a discount of 5%.
(iiij Expenses of dissolution = 1,000 were paid by M.

(iv) Loss on realization was =~ 7,000.

11. ‘¥ AR ‘T @ 31 A1, 2016 & ST 36 FH6K 8

T oA 5,000 | WS 5,000
fafag @9e® | 29,000 | % 20,000
-4 1,000 | fafge e 30,000
wh 20,000
Tl @i A1 Al | 50,000
‘%’ 90,000 A 75,000
‘T’ 75,000 | 1,65,000
2,00,000 2,00,000

S fofr & ‘o @l 9 W EH F Hdsr 2T ©

(i) ‘@’mﬁﬁ%ﬂm%m‘so,ooo%ﬁa ' 30,000 @Y 3 &9
¥ ez

(i) AMTA A TF 60,000 & AR 9o F T q 10% H Ir& &3l

(iii) b H T ° 2,000 § HH fHar T TN SR W 5% %l & F g R
% [ gEee SR SR

AT JTHF @, Rl & Yol @ SR gifed ®H & faeel ar &
Bl 8

The following is the Balance Sheet of K and L as on 31st March, 2016 :
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Liabilities Amount’ Assets Amount’
Bills payable 5,000 | Cash in hand 5,000
Sundry Cash at Bank 20,000
creditors 29,000
Outstanding Sundry

exp. 1,000 debtors 30,000
Stock 20,000

Capital : Plant and
K 90,000 Machinery 50,000
L 75,000 1,65,000 |Building 75,000
2,00,000 2,00,000

2008/(Set : A)

On this date M's is admitted as a -new partner on the following

conditions :

(i) 'M' bringsin " 50,000 as capital and

his %th share in profits.

*.30,000 as goodwill for

(i) Machinery revalued at * 60,000 and value of building is increased

by 10%.

(iij) Value of stock decreased by ° 2,000 and provision for doubtful
debts is to be created on debtors @ 5%:.

You are required to prepare Revaluation Account, Partners' Capital
Account and a Balance Sheet of the new firm.

HAYqT
OR

(@) & 9 7 & W RE A g @R @ swReRd @ 29 R B

TOMT & & [T 3G @ § hiee H Al 21 4

(3) foelt AERER & SFaHT TE0T B & G9F ST b GRS B & H g

i
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(a) Name four items which are credited to the account of a deceased

partner while calculating the amount due to his legal
representatives.

(b) Discuss the method of treatment of goodwill at the time of
retirement of a partner.

M -9
PART - B
(T @ qr R foreelt @ fasar)
(Company Accounts and Analysis of Financial Statements)

12. @A & F9a 8 7 1

What is owners' equity ?
13. g fasawer.aar 8 ? 1

What is trend analysis ?
14. 39 FRfRad GeAT of T 8 4

I AU = 2.5

FrfA Toit = 90,000

S I

(31) =g weafeen

() = A

Following information is given to you :
Current ratio = 2.5

Working capital = * 90,000

Find out :
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(a) Current assets

(b) Current liabilities

15. Frfeied e | Fase Beams § g5 Ahs Ja1e & T S
31-3-2015° | 31-3-2016°

HI (w.d.v.) 6,00,000 7,50,000
fRe g
@i ° 1,00,000 @ Fa, B X THET B9 30,000 ¥, © 60,000 F F9 &=
NEI
(i) 31-3-2016 F TG a9 ¥ B AT T 50,0001
4
Calculate net cash flows from. investing activities from the following
information :
31-3-2015 " | 31-3-2016
Building (w.d.v.) 6,00,000 7,50,000

Additional Information :

(i) Building costing *1,00,000 on which * 30,000 had
accumulated as depreciation was sold for * 60,000.

(ii)) Depreciation charged on building for the year ended 31-3-2016 °
50,000.

16. s YaE a0l TR 31 # SR #r & ? 4

What are the uses of preparing a cash flow statement ?

17. U9 f[afRe 3 ° 10 Y&% & 20,000 9t H1 ° 1 Ui ofer srfeeny w i fha
T 39 YBR 37 ®
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AMAET W 3
e W 5 (Stfers Hfea)
g ] AT I W 3

el ofell W IEM W g R F 7 @+ 3 R, 200 M W
e ST AN TR & SARE o & | 37 AL H T B o WK 12
T & O gO S A GARH fR T HEE S g A e gfaftedt
ey 8
Raj Ltd. offers 20,000 share of * 10 each at a premium of * 1 per share
to the public. The amount is payable as follows :

On Application 3
On Allotment S (including premium)

On First and Final call 3

All shares are subscribed. Company received all money except
allotment and 1st & final call money on 200 shares. These shares were
forfeited and re-issued as fully paid at * 12 each.

Pass necessary Journal Entries in the books of the company.

ST

OR
dfera feorelt ffeg
(37) ofsit @1 et W R 4
(@) it 1 BT 4

Write short notes :
(a) Issue of shares at discount

(b) Forfeiture of shares
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18. T% HA! &l @l T § 31 7, 2016@%@3%&@6@@

N

10% ROT9S 8,00,000
FOTYS M DY Tl 8,00,000
OIS SNEM DY fafeEmT 8,00,000

(* 10,00,000 ufergfodt § i g)
SugH fof W RFEN @ifed 9@ % 90% W = R¥ T kUG B FATER
qie X &I T

FOGS SNE BT QAT T FOS M HY ST @ 9 B
8

The following are the balances in the books of a company as on 31st

March, 2016 :
10% Debentures 8,00,000
Debenture Redemption Fund 8,00,000

Debenture Redemption Fund Investment
8,00,000

(Face value of Securities * 10,00,000)

On the above date investment were sold 90% of the face value and
debenture were redeemed accordingly.

Prepare Debenture Redemption Fund Account and Debenture
Redemption Fund Investment Account in the book of the Company.

HAYqT
OR

T b AR B @ aue Bl 8

Explain the various type of Debentures.
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16.

17.

18.
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AT -9
PART - C
(Fgelza agiw)

(Computerised Accounting)

Ao TR IRl & ST 1 993 & 7 1

What do you mean by Transaction Processing System ?

ST AT 1 & ? 1

What is Data Validation ?

FYTUFA AW AR TG i H X AU 4

Difference between manual and computerized accounting system.

SIEEH at the back end e Y. & &9 8 2 4
What are the types of database at the back end ?

FYGA D H AF-SI @I Dol T BT ST 2.7 4

How prepare the profit and loss account in computerized accounting ?

(i) wizard (ii) by design view § ®F SHM &I J66dT & 901 L 8

Describe the procedure for creating form (i) wizard (ii) by design
view.

HYql

OR
i RUIE 1 B 7w RUIE s @ R @ vl 8

What is an Accounting Report ? Explain the procedure of creating
reports.

elic & AT &l Wik § FHAET 8

Describe the applications of spreadsheet in accounting.
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YA
OR

FEICITA A AR B H TR WL i 8

Differentiate between computational and logical functions.
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